SN sl
B SN
1B

et

(el @2

2,920,265

SEPIEL 28,382,378 25,462,113

2 6,924,912
3 9,136,000
£ 535,315
= 11,786, 151

SUAVASY N (SBHLTA/5Y - &) 510,468 553,451 £42,983

SRRk 95,512 102,590 £7.078

sgxo #EKY A3 95,512 102,590 A7,078

201 Yer2 | 10,000 15,000 5,000

01 AFR 22/t 10,000 15,000 5,000
CEIPIEN=EESS 10,000

202 04l 18,712 20,790 £2,078

01 201t 18,712 20,790 ~2,078
oY, JENE Y25 9.900
OHENA Y BRMMBE S YRFT 8.812

203 YRFTH| 20,000 20,000 0

03 AN MZHADE Y| 20,000 20,000 0
OATWY A ABET 3,000
OsZIENBAY AMER 3,000
OSEXSAY ABET 14,000

204 B P48 2| 46,800 46,800 0

03 SFY2AH 46,800 46,800 0
omel s 50,0008 782 » 128 46,800

A BR 414,956 450,861 £35,905

HADIs2Y 279,956 300,861 £20,905

101 @124t 27,761 25,782 1,979

IEDTEESETRN 27,761 25,782 1,979
CEWE- =N 23,483
owzEsRLI(UNLER) 2,678
OX0I3 ¥ YEHIHHI 1,600

201 Zere | 232,195 208,579 23,616

01 AbRZ2IH| 45,195 21,500 23,695
ORXIZH L WIINHHUHUE S 24,195
oA L B2 B 11,500
OHA 2YSE 7Y S 9,500

02 Bz 187,000 187,079 A79
OHA 2222 ¥ MBS 67,000
OAL 2 2H| 42,000
ozgxe =4l 30,000
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OFE AL AIE&HI RXIH| 13,000
OR&EA U AEEZ &IIQ3 35,000
401 A& HIZ 24 15,000 66,000 251,000
01 Al bl 15,000 66,000 £51,000
OLSAE BLTA(SHLA) 15,000
405 Kt SHI 5,000 500 4,500
0l LS EHSH| 5,000 500 4,500
OUislola Wired| DA (10H) 5,000
Egdrs2el 135,000 150,000 215,000
201 Er2 At 135,000 150,000 15,000
02 IZ2YH| 135,000 140,000 A5,000
oz8eTE Azt 99,000
OZEAURE ANEFHISTI 36,000
X2 o7 YA (SPHLSL/5Y - &) 2,012,796 1,427,866 584,930
2 288,976
z 578,000
= 1,145,820
QTN BB KR 498,800 130,232 368,568
= 12,800
= 486,000
HAEZ 29 27 63,000 66,232 23,232
201 LErS A 23,000 24,000 21,000
01 Al 23,000 23,000 0
ONEHTIANY SAA - DM X R0 15,000
ouolSIY U AHOIL SA £ 2,000
OATAY Mol U WO 2 6,000
202 01dl 39,000 41,232 AN2,232
01 SLHAHI 15,000 14,432 568
CEEEEESS 15,000
03 2ol 0l 24,000 26,800 2,800
OUEZ 84 % 2K IsAT 5 1,000
0244 SHHANUEE L SAAY =7 10,000
O=YNS 244 SIHN ASAE 3,000
301 LA 1,000 1,000 0
10 BAMHI2AS 1,000 1,000 0
OSTAY MO U B 1,000
SQUSEENS 2%(2D) 15,800 24,000 £8,200
= 12,800
= 3,000
201 Yt 3,000 2,000 1,000
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X2 o7 YBH(SUMNLSL/5Y - 5&)

AN 243 X3

(&2 &H)

= 7,500
= 1,500
01 At 22/t 3,000 2,000 1,000
OSYNSHSAC AR/ L AA & 3,000
= 1,500
= 1,500
202 OfH 2,000 7,000 5,000
=2 1,000
= 1,000
NETET 2,000 1,000 1,000
oAgET 29 2,000
=2 1,000
= 1,000
01 YA 1,000 1,000 0
= 500
= 500
10 BARIHIR &2 1,000 1,000 0
OsYNSBSHS BT 1,000
= 500
= 500
308 XX EHHISOI & 9,800 14,000 £4,200
=2 9,800
01 MRS HBARES 9,800 14,000 £4,200
OsYNSH SIS SY(140H4) 9,800
= 9,800
SUIEH WA JIBEA - &) 390,000 0 390,000
403 XHXIEHHI S KHE Ol & 390,000 0 390,000
02 BIIZHSOICHBHCHE AL b 390,000 0 390,000
OS5 XEXA 10,000
OEtEH ZA 65,000
OSAEAE 2 233,000
OAETG FBts ZE 28,000
o AHWO} 54,000
SZ YUCESYER 29 30,000 40,000 £10,000
407 220 H 30,000 40,000 £10,000
01 2YARE0IH 30,000 40,000 £10,000
O2AH 04 25HI(20ft) 6.300
OFX, HIZ, 4 S ST 7 22,500
CEWREEET] 1,200
agIEAD X 545,000 550,000 5,000
= 500,000
= 45,000
HEAS NBAY 45,000 50,000 £5,000
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201 Y2 Y| 13,500 15,000 A1,500
01 AR Z2IY| 13,500 15,000 21,500
o=22 NX(E28 25Y) S 13,500
202 018l 9,900 5,000 4,900
NENE 9,900 5,000 4,900
OHIXY ¥ BX X4 9,900
207 SRRl 21,600 30,000 8,400
EEET 21,600 30,000 8,400
OABE A L |7 9,500
o5 2 =X 8,100
oz 2 | 4,000
N sEXNTAY 243 XV (2D-FASS 500,000 500,000 0
2 500,000
403 RXISHHSKH=O0IE 500,000 500,000 0
z 500,000
01 XIS R=EE 500,000 500,000 0
O EASHS Jlprxy 500,000
e 500,000
ZDRZ DB MAIIE K 688,716 301,414 387,302
= 35,216
z 78,000
< 575,500
B EES4 2 WIS K 23 72,000 55,280 16,720
101 Q1248 45,100 | 40,000 5,100
M4IIAH2ERSES 45,100 40,000 5,100
NEEES 17,220
oz oI 18,018
AN Y HIPED 9,862
202 01t 4,900 5,280 £380
01 2LHOIH| 4,900 5,280 £380
OXNY NEEY 22| 4,900
207 &I 22,000 10,000 12,000
REEETT 22,000 10,000 12,000
OHIZ, A%, SX 7 22,000
PRS NESSH U MHHIISHEAD 67,000 52,080 14,920
101 @124 8| 42,100 36,800 5,300
04IIZHRRRSES 42,100 36,800 5,300
ONEEZ 9,840
oZ Il 22,932
OAAH U HIRYI 9,328
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o M2 o7 YSH(SHHLSL/5Y - 55)
B9l ZREE DB MMIIE WY (el @)

202 01| 4,900 5,280 A380
01 2ol 4,900 5,280 £380
OXI% ANEEH 22 4,900
207 & RIH L] 20,000 10,000 10,000
03 Al& el | 20,000 10,000 10,000
OHIZ, 5%, sX P 20,000
FIHS AS HES 9B BN MY 49,500 60,000 210,500
101 Q124 \ 29,500 45,000 215,500
04 JI2H22RSES 29,500 45,000 215,500
CINELEES . 9,840
oZzeolR 12,012
oAl ¥ HERHS 7.648
207 SARIHLH 20,000 15,000 5,000
03 A& i 20,000 15,000 5,000
oblg, 5%, sXH 7 20,000
FIRAZ QBES SN ESHA 75 90,000 0 90,000
101 Q124 50,000 0 50,000
04 JI2AH22NSES 50,000 ' 0 50,000
CUELEES 18,942
oZFQL 20,592
O2tAlHl & ¥RRHS 10,466
201 Pt | 4,600 0 4,600
01 AL 2-2[H 4,600 0 4,600
OEX Yxz 2,000
OFH X2 2,600
202 04l 5,400 0 5,400
01 =LHOIBI 5,400 0 5,400
OXI% NEEH 22| 5,400
207 SR 30,000 0 30,000
03 A& & 2H| 30,000 0 30,000
OANZ ¥ SXH P 30,000
HEME FIXNS AT YA X4 95,000 0 95,000
101 Q1244 55,000 0 55,000
04 012H22NSES 55,000 0 55,000
OANBEZ 25,256
ozZzeolR 20,592
O2AH & HERLS 9,152
201 LEr2 Y| 4,600 0 4,600
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o1 ASZ2IH 4,600 0 4,600

OEX Uz 2,000
oIyl yxz 2,600
202 04 bl 5,400 0 5,400
01 =L ol 5,400 0 5,400
OXg AEEE 22| 5,400
207 & AIH L] 30,000 0 30,000
03 A& et | 30,000 0 30,000
ONS L ST 7Y 30,000
(F)BEZ =X HHEZD 82 24,000 0 24,000
201 Qe 2| 9,000 0 9,000
01 Ab2 22l 9,000 0 9,000
ONBEZH Yt 9,000
202 04| 2,000 0 2,000
01 =LHOIHI 2,000 0 2,000
oEXEZH 22| 2,000
207 AR H| 26,000 0 26,000
REEET 26,000 0 26,000
O3 223 X0 02 20,000
oHIZ, 5%, SX 6.000
401 AIEHIZ 20U 87,000 0 87,000
01 Al&H| 87,000 0 87,000
©IIBAIE O1F U AREX 87,000
AHS MN(2D) 35,216 23,054 12,162
2 35,216
101 @121t 26,816 16,304 0,512
= 26,816
04 J1ZtR22RSES 26,816 16,304 10,512
oEzole 24,004
= 24,024
OHNELYT U RAAY) 2,79
3 2,79
206 2 bl 8,400 6,750 1,650
2 8,400
01 Mz dl 8,400 6,750 1,650
oHIZ, 5%, SXX 8,400
= 8,400
NS PIHEL (RD-FHBAT) 156,000 60,000 96,000
z 78,000
= 78,000
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SN SYI|E
Bu: X2 o7 YSHSAHYLN/5Y - 5&)
oo FIRE DEE YAIIE WY

405 RHAHH S| 156,000 60,000
Z 78,000
] 78,000
01 AU SEH SH| 156,000 60,000 96,000
OBMFM ¥ HEI| S(115 1504) 156,000
= 78,000
= 78,000
=9 FY -2 29 X 280,280 446,220 £ 165,940
= 240,960
< 39,320
SAYFBO B A7 12,320 13,720 21,400
201 Yete | 8,220 10,200 £1,980
01 AR 22l 5,820 2,600 3,220
OYYIBLT 2Y 2E U RAS ME 5,820
02 B2 2,400 7,600 25,200
O=YAYIE PRI 2,400
202 O Hl 3,000 3,520 2520
01 ZLHOIH] 3,000 3,520 A520
ogREe ¥ =t FIEH 3,000
405 RH&HH SH| 1,100 0 1,100
01 R L2 EH =t 1,100 0 1,100
OSUAANBALAY SHB N2 7 1,100
SIS BHASH(BD-e-HIZLIA) 35,000 82,000 247,000
= 35,000
308 XHXI EHHI SOl ® 35,000 32,000 3,000
= 35,000
01 RXSHBA xS 35,000 32,000 3,000
O=YQl eHIXLA HEY Z2IY 2Y 35,000
= 35,000
NeisllEN s XN (2D) 144,000 144,000 0
= 117,000
= 27,000
101 Q1244 30,000 30,000 0
=2 15,000
< 15,000
04 JIAH22RSES 30,000 30,000 0
OsIIE22 M08 30,000
oJ1e3 22,140
= 11,070
3 11,070
OFg+Y 4,920
= 2,460
= 2,460
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2,940
= 1,470
= 1,470

201 2ere | 20,000 19,500 500
= 10,000
= 10,000

03 #AF2 S HI 20,000 18,000 2,000
Ol FEs FAME BASY 20,000
= 10,000
= 10,000

202 01t 1,000 500 500
= 500
= 500

01 2ol bl 1,000 500 500
OXIS=IIEHES MY 2X 1,000
= 500
< 500

301 YAz 3,000 4,000 21,000
= 1,500
= 1,500

ENCTERE! 3,000 4,000 £1,000
OYRE EHAX AUl 3,000
= 1,500
3 1,500

308 XX &M SOI & 90,000 90,000 0
= 90,000

01 RXISRZ AR ES 90,000 90,000 0
oNSs=YIIeR s N 90,000
= 90,000

SASASTARH(2D) 88,960 67,500 21,460
= 88,960

101 21248 16,900 6,300 10,600
= 16,900

VSTENTEEP =P 16,900 6.300 10,600
OASZA QF 16,900
OLIEL] 15,600
= 15,600
OHISLI(4HEE) 1,300
= 1,300

202 01t 3,900 3,400 500
= 3,900

01 2ol 3,900 3,400 500
ORI BNEF 3,900
= 3,900
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g 0P LS (sHMHLL/ =L - 5F)
s 24 - 32 29 A&

55,800

d0
[
o

308 XHXI EHHI SOI 68, 160 12,360
= 68, 160

01 RXIEHZAETS 68, 160 55,800 12,360
OsME ASTA 24 68, 160
= 68, 160

ZH2Y WHNE WL (SBHLSM/5Y - 5& 647,000 597,056 49,944
Z 151,000
3 496,000

DAS WA MUl e 492,000 447,904 44,09
= 151,000
= 341,000

WA MEHOIE @7 65,000 43,904 21,096

101 @124t 25,000 15,000 10,000

04 JIAR2EXSE 4 25,000 15,000 10,000
ONEBERE 9,840
ool 12,480
CRINN] 840
oHIRUYIUNEER) 1,840

201 LerE | 1,000 1,000 0

01 AR 2 2IH| 1,000 1,000 0
OUEHE, AHZ S 22 7Y(108) 500
ONBIGDEY AXH(1HA) 500

202 Of 10,000 9,504 49

ETIE] 10,000 9,504 49%
OMATHHY &7 10,000

207 AR H| 29,000 18,400 10,600

03 A&l et 29,000 18,400 10,600
OBX, HIZ, 5%, SXM(205) 15,000
OAI% & EXIIT7(05) 14,000

ISy AXE MANH &Y 30,000 13,000 17,000

101 @124t 15,000 8,000 7,000

04 JIZAR2EXNSES 15,000 8,000 7,000
ONBEZ 6,560
oZmoIe 6,240
OztAltl 480
OHIRHBUURER) 1,720

207 1PN HI 15,000 5,000 10,000

03 A& el 2t 15,000 5,000 10,000
OZX, HIE, 5%, SXH(03) 10,000
OA ¥ ERIIT(105) 5,000
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29 ANTS HL(SPHL /59 -
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U= HASHS 4255 84 o7 30,000 25,000 5,000
101 Q1244 15,000 15,000 0
M4 OIIZR2ERERSS 15,000 15,000 0

CNELES 6,560

omFoL 6,240

©2tAlt| 480

OHIRYI(4UEEE) 1,720
207 SRR L 15,000 10,000 5,000
03 Al 2=t 15,000 10,000 5,000

OBX, HIZ, 5%, SXM(205) 10,000

OAN & EXIIT S(108) 5,000

AUE NES 84 3 65,000 0 65,000
101 Q1244 15,000 0 15,000
MIIZR2ERSES 15,000 0 15,000

NELEES 6,560
oEFoIL 6,240
oAl 480
OHIRHB(UNHEHE) 1,720
207 SR 50,000 0 50,000
03 Al el 50,000 0 50,000
OFX, B8, HIZ, 5%, SXH(205) 10,000
OAIS ¥ EXI|7(405) 22,000
ot A IIE 2Y(3E) 18,000
X seinIletzs (2 0-200) 302,000 336,000 34,000
2 151,000
& 151,000
401 Al H LR TH| 270,000 256,000 14,000
z 135,000
= 135,000
01 Al H 269,000 255,000 14,000
o4 2EIR| EXIBA 169,000
z 84,500
= 84,500
O+ XNF BB 80,000
Z 40,000
& 40,000
oHi+2 &X A 20,000
Z 10,000
< 10,000
03 Al& S CHH| 1,000 1,000 0
ON4+Y SEtR SXIBA 2] 1,000
z 500
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405 XHaHE S| 32,000 80,000 48,000
= 16,000
= 16,000
01 XAt U 2B H S| 32,000 80,000 48,000
OS0! 7 HI0IE (20H) 30,000
Z 15,000
= 15,000
o824+ I(20) 2,000
= 1,000
= 1,000
D3 MEKOIE N 155,000 149,152 5,848
% TEols o7 40,000 43,920 23,920
101 @121l 20,000 24,400 £4,400
YBIEF EEV LS 20,000 24,400 £4,400
WNEEES 4,920
oZFoIs 12,480
oAl 720
oYERYZ(UURER) 1,880
201 LEr2gy| 2,000 1,600 400
01 At 22lh| 2,000 1,600 400
OHE& AHE S 28 2Y(108) 1,000
OARS 42/Hl(35) 500
OB I XHI 500
202 O1Hl 8,000 7,920 80
01 2UH0iH| 8,000 7,920 80
Ol4 R UES |4 &7 8,000
207 1RO L] 10,000 10,000 0
03 Al& & H| 10,000 10,000 0
OZX, HIZ, 5%, sXH(105) 5,000
OANS ¥ EXIIT(105) 5,000
NHSH MBS 52 M 2 23 30,000 22,948 7,052
101 Q1244 20,000 12,948 7,052
04 JIZAH2RRSES 20,000 12,948 7,052
ONEEX 4,920
oZFoIs 12,480
O2tAlH| 720
oYIRLZ(UURER) 1,880
207 1IN | 10,000 10,000 0
NEEET 10,000 10,000 0
OEX, HIZ, 5%, SXH(105) 5,000
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eel:
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AU XS )
D35 THEHDI1& O

= ==

OAS L =X (108

)

5,000

sh8l TWHHIIS o 85,000 59,336 25,664
101 @1 24H] 37,000 32,000 5,000
M4 IIZR2RRELS 37,000 32,000 5,000
SNEEES 13,120
oEmOIL 18,720
O+ A 1,200
OHISHYI(UEEE) 3,960

201 Yt 1,000 1,000 0

01 At 22l 1,000 1,000 0
OUER AEE S 22 2Y(45) 1,000

202 01t 7,000 6,336 664

01 2UH0tbl 7,000 6,336 664
CEEN TR 7,000

207 SR H| 40,000 20,000 20,000

EEET 40,000 20,000 20,000 -

OFX, HIZ, 5%, SXM(03) 20,000
OAS L EXIIT(0F) 20,000

MSRSAS MADIE S (SHHSSM/5Y - & 801,557 900,208 £98,651
2 270,000
= 531,557

SUHARAE Y NAST 23 698,404 803,451 A 105,047
2 270,000
[ 428,404

Eope 2E o7 43,636 38,551 5,085
101 Q1 21H| 11,754 9,500 2,254
04 JIZHH22RELES 11,754 9,500 2,254

NELES 5,125
oZIOIE 3,900
O+ A 600
OHNRHYI(UHEHZ) 2,129
201 Y2 AH| 4,918 3,875 1,043
01 ALR 22| 4,918 3,875 1,043
OBX ANBEZR AXE 2,000
ozJIYx2 200
OABAH 4 SHEIL 800
OEE M= 1,918
202 01 H| 13,104 12,006 1,008
01 ZLHoiHI 13,104 12,096 1,008
OEYBAANEAT =X 13,104
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P48 M| e (s8agsd/sY - s&)
sgEzdsgd 2 NEsd H

207 I I 13,860 12,000
Y REEED 13,860 12,000 1,860
OBX, HIZ, =%, SXM(105) 4,000
OANS U ERIIT(15E) 9,860
SlAME =&8= o3 14,768 12,800 1,968
101 2124 H| 7,025 5,800 1,225
04 D122 Z2XNSE S 7,025 5,800 1,225
OANEEX 4,100
OXEQE 2,925
207 &1 RN 7,743 7,000 743
03 AlE St 7,743 7,000 743
OEX, HIZ, 5, SXH(10S) 3,743
OANS U ZRIIT(8S) 4,000
X =PI RS (2 D-SY =) 540,000 706,000 166,000
z 270,000
= 270,000
401 Al HIZL 20| 100,000 560,000 460,000
z 50,000
== 50,000
01 A&t 99,500 558,000 458,500
OXA=AARI B TS AL BA 99,500
OSHMHMAZ X (UPS)& X 40,000
2 20,000
= 20,000
ONTA ZEAL ¥ SHSHEA &3 59,500
z 29,750
= 29,750
03 Al &£ THYI 500 2,000 21,500
OXU=YAARI VTS AL BA 500
2 250
== 250
405 XHAHFE SHI 440,000 146,000 294,000
z 220,000
T 220,000
01 ML EZF S| 440,000 146,000 294,000
OBASANDAIL JIXH =5(185 690H) 440,000
z 220,000
T 220,000
A8 O U Y2 NN 2 50,000 0 50,000
101 121 bl 20,500 0 20,500
B EES 20,500 0 20,500
OANEEX 20,500

-893-




2A:

=EE

ELE

O 2t o
[Q i 1@
o oY &
0 O My
HI 1z 1o
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202 04 H 7,440 0 7,440

01 2LH0iHI 7,440 0 7,440
OXIEA oE ¢ HIZ A A 7,440

207 AR IR 22,060 0 22,060

03 A& Y| 22,060 0 22,060
OFHUII| ADE, EHANA(205) 22,060

23 Qe oty 25te 7 50,000 0 50,000

101 Q124 H| 5,125 0 5,125

04 JIZtH22RSEES 5,125 0 5,125
OANEEZX 5,125

201 LEr2 Y| 1,875 0 1,875

01 AL 22l 1,875 0 1,875
ONREE 1,875

202 O4Hl 3,000 0 3,000

01 2UHoi bl 3,000 0 3,000
OAERAY FA 3,000

207 R IN LY 40,000 0 40,000

03 AlE 4 2 H 40,000 0 40,000
OFLIII ALE AN MEE =XI|R(305) 40,000

REH SAMS Z2IMAH &7 103,153 96,757 6,39%

F2 goills gHIls 93 17,59 22,182 24,586

101 Q1A H| 5,456 7,270 21,814

M4 JI2ZR22XSES 5,456 7,270 A1,814
OANEEZX 3,280
(OE T~ gelE g 780
©ztAlH 300
OHIRHS(UUNEER) 1,096

202 01H| 6,240 6,912 ABT2

01 2LHOIHI 6,240 6,912 ABT2
ogcl2sc3 X 6,240

207 SR IH | 5,900 8,000 A2,100

03 A& 24| 5,900 8,000 22,100
OZX, HIZ, 5%, sXM(105) 2,900
ogas I (108) 3,000

SEMENY SYH #8207 27,173 22,675 4,498

101 Q1A HI 14,440 8,675 5,765

M4 JI2tNM22RSES 14,440 8,675 5,765
OANBEZX 8,200
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£AN: =8IIs¥
U HEBISHE MDD (=™
= S

B2 SYHYE 22IHA o2

off &

" 6.240

o
0
0

CEELE
207 1K H| 12,733 14,000 A1,267
REEET 12,733 14,000 A 1,267
OHIE, SN B2 ¥ 25 WE(105 6.733
OAS ¥ ABESEE(105) 6.000
HA BS84 2 DER MHHOIE He 28,384 38,100 £9,716
101 21214 20,000 18.100 1,900
04 IIZH2RRSES 20,000 18,100 1,900
OANBEZ 18,450
O2A| 300
oOYRRHIUURER) 1,250
207 1R IH Y| 8,384 20,000 11,616
03 Al& & 3l 8,384 20,000 211,616
OSY S HXME(105) 5,000
QA% U EXI|7(203F) 3,384
ZQR2 WS NS X HE 30,000 0 30,000
101 @124 14,350 0 14,350
04JIZHIERSE S 14,350 0 14,350
ONBEZ 14,350
202 OfH| 5,000 0 5,000
NERET 5,000 0 5,000
oga2s o7 2 5,000
207 1Rt 10,650 0 10,650
EEEET 10,650 0 10,650
A% Y EXII7(20F) 10,650
DGR JSN A (SYHLSM/52 - 55) 5,446,614 4,616,542 830,072
= 2,318,540
z 2,583,000
= 545,074
SENEPIETE 3,957,208 3,674,042 283,166
= 1,257,500
= 2,578,000
= 121,708
NsEXTAY 843 NY(2D) 2,228,000 1,745,000 483,000
3 2,228,000
403 XIS SXHE0I R 2,228,000 1,745,000 483,000
= 2,228,000
01 XX SHHIRHE 2 & 2,228,000 1,745,000 483,000
OXNEIIBEY X & 2,228,000
z 2,228,000
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SENEAY 22A5H(2D) 87,000
= 76,000
= 11,000

101 Q1248 14,000 0 14,000
= 7,000
= 7,000

VSV EENETPS 14,000 0 14,000
OsEXEANY X 14,000
= 7,000
[ 7,000

201 LBr29H| 4,000 6,000 A2,000
= 2,000
= 2,000

NEETI 4,000 6,000 £2,000
OSEXEAY 29 4,000
= 2,000
= 2,000

202 OfH 4,000 6,000 £2,000
= 2,000
[ 2,000

NETE 4,000 6,000 £2,000
OsEXEANY B3 57 4,000
= 2,000
= 2,000

308 XHXI €I S 0 & 65,000 80,000 A15,000
= 65,000

01 RXSHBLRES 65,000 80,000 £15,000
OYMKCEE KR (BHA) 65,000
= 65,000

S0 BRAY XV(2D) 246,500 296,250 £49,750
= 246,500

308 XtXI SHHSOI & 24,000 20,250 3,750
= 24,000

01 RXISHZABES 24,000 20,250 3,750
OsJIH HROIBIE DEXE 24,000
= 24,000

403 XHXI M S RHEOI R 222,500 276,000 A53,500
= 222,500

01 RXSAR =2 E 222,500 276,000 53,500
Os0I1 BREFY X (105) 222,500
= 222,500

Detgls HEIISNY(2D) 120,000 165,000 245,000
= 120,000

308 XHXISHXIS Ol & 120,000 15,000 105,000
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SEXCIIE 25

= 120,000
01 HXESHINEES 120,000 15,000 105,000
OdJIE ASAE APSSK (DA 20,000
= 20,000
ONSYE AZAEE 2H(1H2) 100,000
= 100,000
Xo=sast J2XR(2D) 350,000 350,000 0
= 350,000
403 XHXI EHHI S X+ 0| & 350,000 350,000 0
Z 350,000
01 AXISHXELE 350,000 350,000 0
oHneS 2= FHA HI XY 350,000
2 350,000
sedls HAAY 23t 98,708 105,792 A7,084
201 LEr2 A H| 16,000 24,400 £8,400
01 At 22l 16,000 24,400 £8,400
OSEXE AYLs ARG 5,000
OSEXNTAYII=AE, 20N HE 8,000
OAE SE0HS US| HAYR, DUHE 3,000
202 O1H| 21,708 18,502 3,116
01 24018l 10,708 10,502 116
OSEXNTAY =& 10,708
04 2301 11,000 8,000 3,000
oOHT=A= FHeles 11,000
01 PP B 1,000 2,800 21,800
10 BAtAIH B A 3 1,000 2,800 A 1,800
O 2AAs =02 BHED| FAX B4 1,000
403 XHXI St M S X+ 0l & 60,000 60,000 0
01 XISt A= 2 & 60,000 60,000 0
OR4I|2 Je2S B85 N 60,000
HESHFI]S(2D) 827,000 920,000 £93,000
= 815,000
= 12,000
201 LEr2 Y| 10,000 14,000 24,000
= 5,000
= 5,000
01 AHR 22l | 10,000 14,000 24,000
OYAs AR L ALY =F 10,000
= 5,000
< 5,000
202 O1H| 6,000 6,000 0
= 3,000
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3000

01 FLHGHI 6,000 6,000 0
Odas AHEe ¥ HEEH = 6,000
= 3,000
[ 3,000

301 eEtEAE 8,000 0 8,000
= 4,000
= 4,000

10 HALAHIZ2 &S 8,000 0 8,000
oZas W It BEH 8,000
= 4,000
< 4,000

308 AtXI M SOl A 803,000 180,000 623,000
= 803,000

01 XIS EES 803,000 180,000 623,000
OoLis 2ES Y AL 803,000
= 803,000

=g d2Jls W\ 1,013,146 551,200 461,946
= 901,240
[ 111,906

=0 d2Jle BR(21) 772,720 451,000 321,720
= 697,200
[ 75,520

201 23| 123,540 34,700 88,840
= 61,770
=S 61,770

01 AtR221HI 116,540 34,400 82,140
Oosgeolls 29 23,540
=2 11,770
= 11,770
OFsHAELSE 29 93,000
= 46,500
& 46,500

02 2324l 7,000 300 6,700
Cus2g Uz 7,000
= 3,500
= 3,500

202 o1l 8,000 0 8,000
= 4,000
[ 4,000

01 3 OibI 8,000 0 8,000
Osgeluns =M 8,000
= 4,000
= 4,000

301 ¢et2as 19,500 5,300 14,200
= 9,750
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3,750
10 BAIAHI 243 19,500 5,300 14,200
osgolns 2y 7,500
=2 3,750
& 3,750
OFSHEDS 2Y 12,000
=2 6.000
= 6,000
308 XHXISHHISOI & 621,680 411,000 210,680
2 621,680
01 XHXSHBLRES 621,680 411,000 210,680
Osgeol FRJeng ¥ ASAZDS 621,680
2 621,680
NE3PY F2s2 g4(20) 224,426 84,400 140,026
= 204,040
= 20,386
201 LEr2 | 7,500 0 7,500
2 3,750
& 3.750
01 ArR&2IH 7,500 0 7,500
oFAL Y 2oL N 7.500
=2 3,750
& 3,750
202 Ot 33,272 11,000 22,272
= 16,636
=3 16,636
01 204 29,872 7.800 22,072
OHFAEIR Y MEXNEHTE &S X 29,872
= 14,936
= 14,936
04 2501l 3,400 3,200 200
ONEZRR s s+ 3.400
= 1,700
& 1,700
308 XX SHHISOI A 183,654 73,400 110,254
= 183,654
01 IXSHBLRES 183,654 73,400 110,254
OXNEBRA AAs X 183,654
2 183,654
NEZ2Re d2sy a4 16,000 15,800 200
201 Y2 A 16,000 15,800 200
01 A2 2| 16,000 15,800 200
O SYUNST HSUAN LHDSK 16,000
soolchy g3 X 413,260 287,300 125,960
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= 139,800
= 273,460
solol StECHY E45 XY/(2D) 187,200 175,300 11,900
= 139,800
[ 47,400
201 LEr2 | 22,400 22,400 0
] 11,200
[ 11,200
01 AR 221 H| 17,400 12,280 5,120
O4-H3IY 2L NEDA DS =29 4,400
=2 2,200
= 2,200
OSEXNCX 24 DS 2 1,000
=2 500
[ 500
OES=golTs 2 12,000
= 6,000
[ 6,000
03 AL HI 5,000 10,120 25,120
O4-HElY BAIRY ZF 5,000
= 2,500
[ 2,500
202 04l 1,800 1,800 0
= 900
[ 900
01 201 1,800 1,800 0
O4-HEIY 2 NETDAF MRS £ 1,800
=2 900
< 900
206 T 2 Hl 5,000 5,400 A400
= 2,500
= 2,500
01 MHZHI 5,000 5,400 2400
O4-HEIY 2L NSTDA DHDE WE 5,000
= 2,500
= 2,500
301 LEHE AR 33,600 16,800 16,800
=2 16,800
[ 16,800
10 BALAIH 2 A2 33,600 16,800 16,800
O4-H3IY 2 NEDA HHDS A 17,000
2 8,500
[ 8,500
OSEXEK LHDT LA 600
= 300
S 300
OE=2=QolIoins 8 U4 16,000
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307 212HO| & 32,000 32,000 0
= 16,000
5 16,000
02 BItHARE 32,000 32,000 0
O 4H=2E 23X 32,000
= 16,000
= 16,000
308 XX €% SOl & 92,400 96,900 24,500
= 92,400
01 RXSHBA ST 92,400 96,900 24,500
OSEXTK LT 14,400
= 14,400
OES=520%7s 29 78,000
= 78,000
4Hsl 84 105,500 50,000 55,500
201 22| 14,000 1,500 12,500
01 AtR 22l H 9,000 1,500 7,500
OFY JTMS L NTDA HRo4 NS 9,000
03 B A2 S 5,000 0 5,000
©4-H OFHH3l 5,000
202 018 8,000 10,000 £2,000
01 2LHoiHl 8,000 10,000 £2,000
oOstETH DSHA =3 8,000
206 M2 I 5,000 0 5,000
01 HEHI 5,000 0 5,000
O4-H BHHRS M2 5,000
301 LerR A 22,500 11,500 11,000
10 #ALAHI S A S 22,500 11,500 11,000
OFY 4-HAX L & OFHTNE &I 24 22,500
307 212t0| & 5,000 15,000 £10,000
02 BB ARE 5,000 15,000 210,000
OZLRAT 4-H OFATHE N 5,000
308 X+XI £+ SOl & 51,000 12,000 39,000
01 RHXESHBL BT 51,000 12,000 39,000
O 4-H DHES ALK 12,000
O 4H3R JZY=XA 39,000
SEXNTXE |4 83,560 39,000 44,560
201 LEr2 Y| 17,000 0 17,000
03 #AL2 HH| 17,000 0 17,000
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o9l SEXE

=3

15,000
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H
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o

= 7,500
= 7,500
03 A2 5,000 3,000 2,000
odzAM A 5,000
= 2,500
= 2,500
206 = bl 16,000 16,000 0
= 8,000
< 8,000
01 HZHI 16,000 16,000 0
OZANsY ANY 2 16,000
= 8,000
[ 8,000
301 EtE 4,000 4,000 0
= 2,000
< 2,000
10 A HI B & = 4,000 4,000 0
OFA Al'g 4,000
= 2,000
= 2,000
sl g 8,000 29,000 A21,000
201 €23y 4,000 2,000 2,000
01 ALS 2 4,000 2,000 2,000
O=gII£EEE M 4,000
202 Ol 4,000 0 4,000
012U 08l 4,000 0 4,000
O =Yl S2ME = 4,000
sSEME EEEL 5,000 5,000 0
201 2et2 2,300 2,300 0
01 AR 2 2,300 2,300 0
Os&Eds g2 2,300
303 Z& =3 2,700 2,700 0
01 X423 2,700 2,700 0
O=sEds 82 A3 2,700
HEoLE 9 HES J=Xd (s - 5E) 8,006,631 7,193,428 813,203
= 3,062,820
s 3,764,000
2 535,315
< 644,496
ZEET FE JIEES 2,811,518 2,994,746 183,228
= 2,563,946
T 247,572
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MIlsESM(=1) 2,563,946 2,773,946 £210,000
= 2,563,946

403 XXM SXH=201 & 2,563,946 2,673,946 £110,000
= 2,563,946

01 AXISHMA2EE 2,563,946 2,673,946 £110,000
OAII&EE S A (49M L) 2,563,946
= 2,563,946

gl 22 Jls 247,572 220,800 26,772

201 2Er2| 17,572 10,000 7,572

01 AR22/H| 10,572 8,000 2,572
OJI£E3 MBAMY =0 LBI2EH] 10,572

02 322l 7,000 2,000 5,000
OJI£E3S NEAMY =W SEEYSEE 2,000
OULE X RN+ 5,000

202 04 Hl 8,000 5,000 3,000

01 =W Abl 8,000 5,000 3,000
OZ3EHl 22 JIEXY 8,000

403 XXM SA=01 & 222,000 205,800 16,200

01 XSt A2EE 222,000 205,800 16,200
OZ YUl EZ JI=(4A1Y) 222,000

IO SEEH JeE=2 862,315 464,800 397,515
= 100,000
== 535,315
[ 227,000

sSEME EZDZE VX (21) 100,000 100,000 0
=2 100,000

403 XM SXH201 & 100,000 100,000 0
= 100,000

01 AXIEMA=EXE 100,000 100,000 0
O=ssug BEN=3 JI&XJ(HA) 100,000
= 100,000

NS EAS 435t 535,315 301,000 234,315
= 535,315

403 XIS SHE0IH 535,315 301,000 234,315
== 535,315

01 AXIEMA=2EE 535,315 301,000 234,315
OXNAEL 3 535,315
= 535,315

dHHAF |4 Il 227,000 63,800 163,200

202 G4 Hl 8,000 5,000 3,000

01 3L GIYI 8,000 5,000 3,000
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40
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o= |4 HXII&X 8,000

403 XHXISHHI S KH20I & 219,000 58,800 160,200

01 KSR B X 219,000 58,800 160,200
OHNFARE S4 JIEX (5AY) 219,000

Yz BEIIE XTI 83 4,332,798 3,733,882 598,916
2 398,874
z 3,764,000
= 169,924

IS EXNY(ZD) 230,848 334,892 £104,044
2 227,424
< 3,424

202 04 6,848 15,000 28,152
2 3,424
= 3,424

01 20t 6,848 15,000 28,152
Ogdls E %L ELAN J&X 6,848
2 3,424
== 3,424

308 XHXISHHSOIA 224,000 306,500 £82,500
- 2 224,000

01 IXSHBAEES 224,000 306,500 £82,500
O A= HHI S (5A) 224,000
2 224,000

Xe 5 S48 JI&X(2D) 2,684,000 2,104,000 580,000
z 2,684,000

403 Xt XI SHXI S KHEOI & 2,684,000 2,104,000 580,000
Z 2,684,000

01 X SHH 22X 2,684,000 2,104,000 580,000
oNS=sY S43 2,684,000
2 2,684,000

XMt RS A EE AR (21) 1,080,000 1,059,000 21,000
Z 1,080,000

101 Q1244 21,230 18,096 3,134
Z 21,230

04 JI2H22SES 21,230 18,09 3,134
OSsRS astoigac AYET 21,230
2 21,230

201 LEr2 | 19,770 3,619 16,151
z 19,770

01 AFR 22| 19,770 3,619 16, 151
OS3INS MeEtiEAT AYFEZ 19,770
= 19,770

202 04l 7,000 4,000 3,000
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7,000
01 =z oI 7,000 4,000 3,000
OSEAF AtstigsH AIHFA 7,000
3 7,000
301 ¢t AE 2,000 4,000 22,000
2 2,000
10 #AAHIEAS 2,000 4,000 22,000
OS3A= stetigsE b A=A 2,000
& 2,000
403 A XISHHSAH=01E 1,030,000 1,029,285 715
& 1,030,000
02 BJ12:SOICHEHCH & AL HI 1,030,000 1,029,285 715
OSa&s MstAEAUAY 670,000
= 670,000
OSS&= AN M X3 360,000
& 360,000
sAEH 24 (21 4,800 12,300 27,500
= 2,400
< 2,400
201 Ler24h| 1,000 3,000 22,000
= 500
S 500
01 At 2218l 1,000 3,000 22,000
OEZ=RE & J|=Xd U8 1,000
= 500
& 500
202 OHi 3,800 1,800 2,000
= 1,900
& 1,900
01 SLHGILI 3,800 1,800 2,000
OBIZRE ALY 3,800
= 1,900
& 1,900
SsEE HzII=XE 146,000 23,000 123,000
201 ZBt2gH| 12,000 10,000 2,000
01 At 22l bl 12,000 10,000 2,000
OSFIIEXNE B MHFA 12,000
202 0iH| 8,000 7,000 1,000
01 SHAHI 8,000 7,000 1,000
OZ=8E M2II=XNE 8,000
301 2Bt d= 3,000 3,000 0
10 BAEHIE &= 3,000 3,000 0
OREE HAI&XY W=\ Flisgel 24 3,000
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308 RHXISHHSOIH 48,000 0 48,000
01 KIXISHALEES 48,000 0 48,000
ol E2Z [IZJHA UKV 48,000
403 Lt XIS HSX =01 & 75,000 3,000 72,000
01 IXISHX=EX 75,000 3,000 72,000
OYSHAE WRIIEXIH(2AIY) 75,000
SotEY0lE ERAESH=1) 47,000 47,000 0
= 37,000
= 10,000
201 2| 11,000 8,000 3,000
= 5,500
[ 5,500
01 A2 221l 10,000 8,000 2,000
OSIIFY AT HYANHIA 29 10,000
= 5,000
[ 5,000
02 B2 1,000 0 1,000
O=IIAY AT HYNHIA 2 X 1,000
= 500
= 500
202 01 H| 9,000 8,000 1,000
= 4,500
[ 4,500
01 2ol 9,000 8,000 1,000
OSHAYTE HYAHIA SX28E 9,000
= 4,500
= 4,500
308 XHXISHHSOI & 27,000 27,000 0
= 27,000
01 AXESHIASES 27,000 27,000 0
OSIIAYTY HYAHIA 27,000
= 27,000
HolE SRS JI2XNVA(2D) 140,150 126,850 13,300
= 132,050
= 8,100
201 eS| 12,000 0 12,000
= 6,000
[ 6,000
01 AL 22l H| 12,000 0 12,000
odHE oE MEX L B8 2|23 12,000
= 6,000
= 6,000
202 01 | 4,200 0 4,200
=2 2,100
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A2,900

H

123,950
123,950
123,950
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22,900

H o H

3,286,095
1,238,000
1,790,000

258,095

2,786,588

499,507

HY O HI

2,456,495
1,177,500
1,250,000

28,995

2,032,888

423,607

H

1,082,500
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482,500
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200,000

45,000
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950,000
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£40,000
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3,000
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6,000
6,000
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= 3,000

202 04 bl 3,000 0 3,000
= 1,500
= 1,500

01 2Ly 01l 3,000 0 3,000
OsXY FAY FVS 2Y 3,000
= 1,500
= 1,500

301 LB AS 1,000 0 1,000
2 500
= 500

10 BAAHIR &S 1,000 0 1,000
OsXY OIEAY FVS 2Y 1,000
=2 500
L~ 500

308 XHXIEHH SO & 90,000 140,000 A50,000
= 90,000

O RS HBABES 90,000 140,000 £50,000
OS=e SHEDYAIY (4H2) 90,000
=2 90,000

SRAUBANLHOIBY KR (D) 300,000 300,000 0
= 300,000

308 X+XI €M SO & 300,000 300,000 0
' z 300,000

01 RXISHHBARES 300,000 300,000 0
OSXY BAML HOIZYINY 300,000
z 300,000

SEME 245 KR (XHH) 23,995 42,8883 £18,893

201 Y2 | 7,850 0 7,850

01 At 221 7,850 0 7,850
OsE MEXAAY One-Stop HFHAES XY 7,850

202 04 bl 16, 145 7,588 8,557

01 201t 16, 145 7,568 8,557
OsEME BHS =X 7,59
OsE METNAAY One-Stop BHASEH XY 8,550

SEXNUES LS 683,000 636,000 47,000
=l 540,000
= 143,000

RSS2 Z (D) 540,000 495,000 45,000
= 540,000

403 XHXI €t H S X+H2 01 & 540,000 295,000 245,000
= 540,000

01 RXISHRELE 540,000 295,000 245,000

—-909-



2N sl
o sERRIXEB(SEHSLL/5 -

Be: sENAEE AS3 (EH51:83)

o
U

300,000
= 300,000
O=gol ASES JI=(3AY 240,000
3 240,000
ASER NEES 143,000 141,000 2,000
202 OiHi 3,500 3,500 0
01 2Ll 3,500 3,500 0
OASE HE MEFT 3,500
308 XX EtXI S0 & 45,000 0 45,000
01 XIS EES 45,000 0 45,000
OLAS4A o3tdiol 2 45,000
403 AXISHHEXZ201H 94,500 137,500 243,000
01 AXEHAE2EE 94,500 137,500 £43,000
OZd HEAE 25t 84 30,000
OS8I =JI¥ 88ty 24 60,000
OsE8E HEss WY 4,500
sSESE SN 146,600 117,700 28,900
= 60,500
= 86,100
sgdEEAH(21) 64,000 42,500 21,500
= 60,500
[ 3,500
201 ¢Er2 | 5,500 4,000 1,500
= 2,750
& 2,750
01 At 22t 5,500 - 4,000 1,500
Os&0deld YH8us 5,500
= 2,750
[ 2,750
301 et a= 1,500 1,000 500
= 750
[ 750
10 FMNAHIEAS 1,500 1,000 500
OsE0ideld ¢4us 1,500
= 750
< 750
308 XXl £t S0l ™ 57,000 37,500 19,500
= 57,000
01 AXEtHBLEES 57,000 37,500 19,500
Os&E0idelll ¢4dn=s 7,000
= 7,000
O3NS SAE W 29 50,000
= 50,000
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SE0Y a2 59,600 57,100
307 I2tol M 10,000 10,000 0
02 BI2HA AR R 10,000 10,000 0
OsE0i4 52Ny N 10,000
308 X+ EHRISOI & 49,600 27,100 22,500
01 RXISHBL RS 49,600 27,100 22,500
SE04 32X 23 49,600
483 Jsns 23 23,000 18,100 4,900
201 L2 | 19,000 16,100 2,900
01 AL 221t 16,000 15, 100 900
OsEXE HAXNZN DK 13,000
OMEIISIH ¥ SANWLDS 2 3,000
03 #ALS S 3,000 1,000 2,000
OsEXE HAXNEN DS 3,000
206 W E I 1,000 0 1,000
01 = H| 1,000 0 1,000
OsEXE HAXNEZX DS 1,000
301 YerEaa 3,000 2,000 1,000
10 BAFAIHI 242 3,000 2,000 1,000
OsEXe HAXNEN D] 3,000
HHSAHH (SYIIER)(JIEHIIE) 7,671,217 7,386,974 284,243
=2 16,576
= 7,654,641
ol 2| 7,396,726 7,105,427 291,299
= 16,576
= 7,380, 150
Z2W oA N 6.654,603 6,452,341 202,262
101 @124t 6.458,403 6,246,421 211,982
01 24 6,458,403 6,246,421 211,982
odleg 4,886,951
o3 4,511,031
-pts 3,736,751
.53 3,849, 5008112 %128 46,194
63 2,790,008 x2% 128 66,960
73 1,998,200 +22 128 47,957
.83 2,563,600 12 +128 30,764
ol 4,275,108 * 11« 128 564,314
oA 2,951,400 +58% 128 2,054,175
N 4,134, 7008562 * 128 297,699
XIS At 2,757, 4008+ 19 <128 628,688

-911-



Sk

=R

e9l:

o 02 o
JE 0x 12
HO [0 &

4

=3
S22 (sYI1=3)(J1EH/IEH
&l

-Jls

PN
= 3,209,200 1122
= 2,916,900 6« 122
- 8= 2,404,800 +7E*12&
- 92 1,798,600& x15F »12&
o&n=3
-H324E 4,511,031,000& *1/12
o=g
OJt&Eg
-t Xt 40,0002 103« 122
-2t 20,0003 #1958 128
OXHEHIEE 4
-1S8u 419,090& 202 43|
OFZ2+Eiht=
26 0[ & 130,000& «32& +12&
-20H 01 &~25 012 110,000& 23 128
-15E 0l &~20E 0] 8t 80,0002 x39 »12&
-10&= 0] &~154 01 &t 60,000 «11E*12&
- 580/ &~10=0]8t 50,000& «12F »12&
Ooflgz22=+g
oS 50,0003 «80F »12&
O3 +E  217,808,000& *4. 1%+ 122
ordzsRa+g 50,000& »5F *12&
OS2+
JledEsg
N2 60,0008 +«6& *12&
- NI A 50,0002« 19« 128
- 186,72 30,0002 »3F *12&
- JI=s8=0Iot 20,0003 x18F »12&
- s 30,000 *30F »12&
-y 80,0003 «69F »12&
OzeclgdR+E 59,384,000 6 +7.8%
OozZgaxasg 70,0003 x10E »12&
OEFX22+E
-£X 40,0002 +«8EH *12&
-gX 30,000 «17F+12&
OAzt 224+
8,476 x 122 «25A| 2t 128
OZAUZAHI 130,000 +88F » 128
OZERIHHI 4,511,031,000&! *1/12%120%
OB AHI

774,280
38,511
210,017
202,004
323,748
375,920
375,920
875,304
96,240
49,440
46,800
33,528
33,528
132,840
49,920
30,360
37,440
7,920
7,200
48,000
48,000
107,162
3,000
98, 160
31,920
4,320
11,400
1,080
4,320
10,800
66,240
27,792
8,400
9,960
3,840
6,120

310,222
137,280
451,104
107,764

|:&¥)

-912-



2A:

=9
M
o| 24
— =

) (I1EH/IIE)

H0 MO
02 02
= oY
=5
o
1%
o
e
m
4o
[a
o

=5 B

4,511,031, 0002 #1/12+86%+1/30% 102 107,764
204 F R LA 196,200 205,920 £9,720
02 HZEEH| 196,200 205,920 £9,720
022 650, 0008 124122 7,800
o4z 400, 0002 *9% * 122 43,200
o532 250,000 #7212 21,000
062 155, 0002 *53% » 128 98,580
o7z 40,0002 +72 « 128 1,760
©8-93 105, 0002112« 122 13,860
RS ATAY 147,251 131,860 15,391
101 @121t 147,251 31,860 15,391
RESIPTEEES RS 147,251 131,860 15,391
oMgaRe 147,251
o= 41,0002 +62 #2612 64,206
o&0i2 64,206,002 / 1271 B 43| 21,402
os3gYsg 41,0008 +6 25224 12,792
oFII2HINZ
10,701,002 /1270 2 »10%+32 #1202 3,211
NEELES=
8,725 * 150%+6 2+ 10AI 24+ 1074 & 7,853
ORI RINLY 69,8012 +62* 172 7,120
OB EHIH| 300, 0002 *62§ 23 3,600
oz 4| 130,00024 +62 * 124 2 9,360
Onst| 60,0002 +62 127 & 4,320
OYESLT(UHLEE) 133,864,002 «10% 13,387
A0l A TALY 297,995 260,266 37,729
101 Q1248 297,995 260,266 37,729
EEPIPTEEES=PS 297,99 260,266 37,729
oMgaRe 297,995
oz 41,0002 +122612 128,412
e 128,412,000 /1204 2 *43] 42,804
of3sY+g 41,0008+ 128 #5221 25,564
OFII2EINIE
10,701,000 /1274 B » 10%+92 127 & 9,631
OAeRRLY
8,725% +150%+ 122+ 10AI 24104 & 15,705
OSNSITENELY 60,801+ 12H 172 14,240
OEE-E ST 300, 0008 122 x23] 7,200
o4l 130, 0002 * 122 * 124 & 18,720
Onstl 60,0008 * 122 +1204 2 8,640
OUELLZUHSHE) 270,586,200 «10% 27,059

-913-



2N s
HH: 3

e

EZ=sg NEAZAY

Aol (sI1E|)(JIEHIIE)

248,934 239,352
101 Q1 21b| 248,934 239,352 9,562
S EEES TP 248,934 239,352 9,562

oA 248,934
oJl=3 41,00020*1024 2612 107,010
oX0i2 107,010,000 /1274 B +43] 35,670
oRzZEY+Y 41,0002 108 ¥522 21,320
O/IIDEIINZ

10,701,0002! /1274 B *10%+8% <1224 & 8,561
OANZe2R4E
8, 7252 *150%+ 1084 +10AI 2++ 1001 & 13,088
ORI EINLY  69,801R+10+172 11,867
OYEFHIH| 300, 000! #1084 %23 6,000
SEIN 130, 0002 * 10 1274 & 15,600
OmEH| 60,0002+ 102 +127H 2 7,200
OMESLTUNSER) 206,176,000 +10% 22,618
KRS A (2D) 24,301 0 24,301
2 5,000
= 19,301
101 Q124 bl 24,301 0 24,301
2 5,000
= 19,301
03 RINHA22X 24 24,301 0 24,301

CER RS 24,301

o232 41,0002 *124%2612 10,701
2 2,202
= 8,499
OX0i2 10,701,000/ 124 & +43! 3,567
2 734
= 2,833
oRzEYL+Y 41,000+522 2,132
= 439
1~ 1,693

OANZe2RLY
8, 72521 #150%+ 12 % 10A1 2 104 & 1,309
= 269
= 1,040
OXRIEIN+Y 69,801 R +152 1,048
= 216
€ 832
OZEEIH| 300, 0002 *124 %23 600
2 123
= a7
SEXN 130,000 * 12 #1202 1,560
2 321
= 1,239

-914-



2N s
Hm:
ol
J

=

Hl (efel:&8)

e 60,0002 * 12+ 120} = 720

= 148
[ 572
eEELI=F 21,636,000 *10% 2,164
= 445
= 1,719
Oz =0l 50,0008 +103] 500
= 103
= 397
2 Yas ol Maxal(21) 23,642 21,608 2,034
= 11,576
= 12,066
=] 23,642 21,608 2,034
= 11,576
[ 12,066
REPIPTEEY =P 23,642 21,608 2,034
CEEEES 23,642
== 41,0002 %12 *261Y 10,701
= 5,351
= 5,350
O = 10,701,000 / 1274 2 * 12 »43] 3,567
= 1,784
[ 1,783
ORII2EINZ
10,700, 00021 /1274 2 *10%+ 124 * 120 & 1,070
= 535
S 535
og3sYsy 41,0009 124 %52 2,132
= 1,066
= 1,066
ORI EINLL 69,8012+ 12+ 17 1,187
= 348
= 839
OHEEIHY| 300,000% 12§ 23] 600
= 300
= 300
o3 Al 1300002+ 12 +1204 2 1,560
= 780
[ 780
OnEH| 60,0002 121204 & 720
= 360
= 360
OHNELI(ANSER)  21,047,0008 *10% 2,105
= 1,052
= 1,053
= 274,491 281,547 AT7,056
SN2 JI2PH(E2D) 122,020 125,057 £3,087

-915-



FAN: s8I
3 HY2IP(sLI1=2)(OIEHIIE)
S J=23| (et &))

201 2Bt 14,720 17,377 AN2,657
01 At22t2|Hl 12,120 14,377 N2,257
ORN2Y AFR2IHI 12,120
02 B2t 2,600 3,000 £400
oORAEY ZZ2SH| 2,600
202 04l 6,480 7,200 AT20
01 2 0tH| 6.480 7,200 AT20
O=RA2Y 2ot 6,480
203 PR F&H 48,920 48,880 40
01222 LRFEH| . 22,000 22,000 0
oy 10,000, 0002 * 12} 10,000
(OF 24 6,000,000& »2H 12,000
02 HRAIIAMAREXY| 3,520 3.480 40
OF AN 40,0002 x88% 3,520
04 RASSLRET| 23,400 23,400 0
©159! 0I5t 250,000 574 =128 15,000
©30¢! 0I5} 350,000 274 D128 8,400
204 M4 A 51,600 51,600 0
T 51,600 51,600 0
oy 650,000+ 12+ 128 7,800
o= 600, 0008 2% » 128 14,400
onx 350,000 +7 %+ 128 29,400
405 THaHE S| 300 0 300
01 AU S EF S| 300 0 300
omARY 300
SA2YE JI2EH(HEATD) 23,100 24,958 21,858
201 Lere | 14,300 15,918 £1,618
01 AFR 22/t 14,300 15,918 £1,618
SN2 AR 14,300
202 01 H 7,800 8.640 A840
01 SO 7,800 8,640 AB40
22 2ol 7,800
405 THAHE SHI 1,000 400 600
01 R LS EH S| 1,000 400 600
OZAFESII(2TH) 600
O©2XH1H) 400
SEA2E JI2ZH (RSP ) 21,531 20,730 801
201 2et24H| 4,331 13,530 29,199

-916-



2A:

=EE

e

0k 0

S0 o
M 0¥ 12
0 HO M
02 My

Bl (s&I1&8)(JIE/I1EH)

4,331

01 AF el 13,530 ~9.199
o=ASY NS 4,331
202 01t 7,200 7,200 0
NETEL 7,200 7,200 0
oA 2ol 7,200
405 TH&H3 S B 10,000 0 0,000
01 HULEEH =0 10,000 0 10,000
ozat= Al 10,000
SASY JI=FH (BASAATD) 17,040 16,902 138
201 Q=Y 11, 142 11,142 0
01 Azl 1,142 11,142 0
o=NSY NS 11, 142
202 01| 5,898 5,760 138
NETTT] 5,69 5,760 138
osA2g 2ol 5,898
SASY JI=ZH(NUIIED]) 18,460 18,678 A218
201 Qure ] 11,310 1,938 ~628
T 11,310 11,938 ~628
O=ASY MDA 11,310
202 018l 7,150 6,240 910
01 = Lol 7,150 6,240 910
2A2Y 2ol 7,150
SA2g JI2ZFH (1222 14,200 15,000 A800
201 Qure | 0,000 9,550 450
01 ARz 10,000 9,550 250
sheY ABB2 10,000
202 01| 4,200 4,800 AB00
01 =Lhoitl 4,200 2,800 600
osM2g 2ot 4,200
SN2 JI=ZH (MBI 9,940 12,002 A2,082
201 gue | 6,650 7,162 A512
01 ARzl 6,650 7,162 ABT2
SHeY ADB 6,650
202 018l 3,200 3,360 AT0
ST T 3,290 3,360 A70
oA 2ol 3,290
SRy 29 48,200 48,200 0

-917-



SN EeIIE
Hu: BHSAALI (SLIISV)(IEHIIE)
eH9l: Jl= | EERED

bl 48,200 48,200 0

-918-





